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Pemu 3agauay.

aK pasgenuTtb NATb A0NOK MeXxay NATbIo
- JeBOoYKaMM Tak, YTobbl KaXgasa nonyyuna
Mo A0SIOKY 1 NMpm 3TOM OAHO U3 ADNOK

OCTasfiocb B KOP3UHKE"?
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4+6+2=12
3+7+2=12
9+1+2=12
6+5+1=12

8+3+1=12
T+4+1=12



Onpenenu 3aKOHOMEPHOCTh
1 NMPOXO0JIKHA YUCI0BOH PSIL.

19 39 59 79 99 9 9 9 =

29 59 49 79 69 9 9 9



Onpenesin 3aKOHOMEPHOCTD
1 NMPOXO0JIKHA YUCI0BOH PSIL.

1, 3,5, 7, 9, 11,13,13,1.1.

2, 5, 4, 7, 6, .9, .8, 11, 10.



20 anpens
KnaccHasi pabota
No1 (C.88)
(5 MUHYT)
3agada Ne2



3agada Ne3
YCTHO
3agada Ne 4
YCTHO
N4 (C.89)
Ne6



